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I. Choose the correct answer: 20x1.=20

- When capital in the beginning is ¥ 10,000, drawings during the year is ¥ 6000,
profit made during the year is ¥ 2000 and the additional capital introduced Is
3000, find the amount of the end. |
a)%9,000 - b)¥11,000 ¢)¥T21,000 d)¥ 3,000

Opening balance of debtors ¥ 30,000, cash recéived: ¥ 1,00,000, credit sales:
90,000 ; Closing balance of debtors is ' §
a)%30,000 b)¥1,30,000 c)T40,000

Donations received'for a specific purposé is
" b) Capital receipt
| d) Capital expenditure

d) T 20,000

¢) Revenue expenditure

. There are 500 member in a club each paying ¥ 100 as annual subscription. -

Subscription due.but not received for the current year is ¥ 200; subscription .
—receiyed in advance is T 300. Find the amount of subscription to shown In
income and expenditure account. ‘

' a)¥50,000 b)T49,000 ¢ 50,200  d) ¥ 49,800

Pick the odd one out

~ a) Partners share profits and losses equally.
~ b) Interest on partner’s capital is allowed at 7% per annum. -

¢) No salary or remuneration is allowed. .

. d) Interest on load from partners is allowed at 6% per annum.

Profit after interest on drawings interest on capital and remuneration is X

- 10,500. Geetha, a partner, is entitied to receive commission @ 5% on profits

after charging such commission. Find commission
a)¥50 b) % ‘150 ¢) T 550 d) ¥ 500

‘Which of the following is true?
a) Super Profit = Total Profit/number of years
b) Super Profit = Weighted Profit/number of years

~¢) Super Profit = Average Profit -~ Normal Profit -

a) Super Profit = Average Profit x years of Purchase

8. Select the odd one out
a) Revaluation Profit
¢) Goodwill brought by new partner
9. James and Kamal are sharing profits and losses in the ratio 5:3. They admit
~ sunil as a partners giving him 1/5 share of profits. Find out the sacrificing
ratio. , '
. a)yL3 " b)3:1 ¢) 5i3
10. Balaji and Kamalesh are partners sharing profits and losses in the ratio of 2:1.
- They admit Yogesh as a partner. The new profit sharing ratio between Balaji,
Kamalesh and Yogesh is agreed to 3:1:1. Find the sacrificing ratio betweenﬂ
Balaji and Kamalesh ' _ |
a) 1:3 b) 3:1 c)2:1 d) 1:2
11.A, B and C are partners sharing profits In the ratio of 4:2:3. C retires. The new
profit sharing ratio between Aand Bwill be
a)4:3 b) 3:4 ¢)2:1

b) Accumulated loss w
d) Investment fluctuation fund

d} 3:5

d) 1:2

"12.X, Yand Z were partners sharing profits and losses equally. X died on 1% April

2019. Find out the share x in the profit of 2019 based on the Profit of 2018
which showed % 36,000 ?

- a)¥1,000 b) ¥ 3,000 ¢)%12,000 ~ d)X 36,000
13.1f a share of ¥ 10 on which 2 8 has been paid up Is forfeited. Minimum reissue
price is . C ]
 a)¥i0pershare b)X 8 per share )T 5 per share d)¥ 2 per ;hare

14, Supreme Ltd. Forfeited 100 share of T 10 each for non-payment of final call of
% 2 per share. All these shares were re-issued at ¥ 9 per share. What amount
will be transferred to capital reserve account? '
a)¥ 700 b) T 800 c) T 900

15.1n a common-size balance sheet, if the percentage of non-Cu rrent asset is 75,
what would be the percentage of currgnt assets?

a) 175 b) 125 c) 25 d) 100

16. Expenses for a business for the first year were ¥ 80,000. In the second year, it

was increased to T 88,000. What is the trend percentage in the second year?

d) % 1,000

a) 10% . b)110% c) 90% d) 11%
17.Current liabilities Z 40,000. Current assets 21,00,000 ; Inventory Z 20,000.

Quick ratio is -

ay1:1 b) 2:5:1 c)2:1 d)1:2






